' 2 mark questions i b

- 22. Calculate the. wavelength assocnated wlth each

- of the following. ~ =
(i) A ball of mass 200 g movmg W1th a veloclty

of 100 ms™. .
| (11) An electron movmg Wlth a velomty of 100 ms*1
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(11) Mass of electron =9.1 x. <10 kg
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23. When the teacher asked to wrlte the electronw‘ |
configuration and box dlagram_ of two eleme“t.s




with atomic numbers 24 and 29 respectlvely, :

student wrote the answer as follows.

L=24. 1s? 257 2p€ 3s? 3pf 3d° -

- L=29 1s* 2s? 2p% 32 3pS 3d° 4s?

, (a) If there is any mistake in the answer, correct it

- and draw the box diagram of the two elements

(b) Substantiate your answer..

(c) What are the rules you must obey while filling
electrons in various orbitals.

" 4(a) Yes, there is a mistake in the given answer. The,'

correct configuration is. .
CZ=24 18 28 2p° 3t 3pS  3d 4
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7=29 18 28 upF 3¢ 3 30 49
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: (B) The above configuration is correct because fully |
filled and half filled orbitals have extra stab111ty
(c) The ﬁlhng of electrons into different orbital is
based on some well established pnn01ples



